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| F(x) = (2x7'—5x)‘3
F0x) = 3(2*-5x)*(4x~5)
2. Fx)= (5x?-2x)"*
£rex) = T(5x3-2x)"* (15x-2)
3. y= 3sin(x-3)
Ny'= 3 cos(x-3)
4. \ = -2cos(x*r2)
N T 2 51 (x % 2)(2x)
N'= Hx svn(x*2)
5. glx)=(sin(3x2))"
g1 = 2 (sia3x*)(cas3x> oX)
9‘(.20 = 12x% Sin(3x?)Cos(3x2)
. hix) = (See (x*s))? |
h'o) = 3(sectx™-5)) " (sec(x™s)¥om (x*-5))( 2x)
hi(x1 = bx sec3(x*-s5) fan(x*-5S)
7. FX) = 3x3 e?"*
Fa= (ox2)e™ 7 (3)‘3)(6“-5)'2)
S0 = 21x7e™ T x px2e ™
fx) = 3x*e ™7 (q + 2x)
§. g = ~5x*e "
o' (x) = (-10x) ex“i-sx e (-Sx")‘/exz“?(uﬂ)
9100 = - 5x¢e "’"’”‘( 2 + x(2xr3))
o (x) = -Sx X3 ( 2x*r3x +2.)

’



A y= 3x*(ux>-Sx+1)"
Q' = (ba)(4x*-sx+1)"* ¢ {3;(”)‘},‘,(4)(7'-5)('3-!)"“’(g’x-5'>
N'® bx (4x*-sx+) Y% + &x© ($x~514x’-5x+1)'"7‘
§ = %x ('-Ix“'-SXrl')-”" ['—l(l-}x"—erf) ¥ x (§x-5 7]
0. () = 33 (3t7-58)™
W)= 26% (317-54) "+ F 4% £(34%5t) (21t*-5)
he) = 2t5(34*-5¢1" « 5 ¢7 (2775 )(3tEsy "t
i) = S¢% (38540 [[6 (3t2-58) + t(21¢>3) ]
I gy = (x3-ux+1) "
\ v T3y - ux® tl7-q3 (3x"-8'x)
y' = —(3x"'-8x)
_3()(3-‘4):"71)‘"3
12 glx) =3 (2t>+s+-3 ):14
g (1) = 2 (2t7+5¢-3)7" (bt ™rs)
3(bt>+5)
4(2t %se—s)"‘t
3. g(m) = sin (cos(m))
g'(m) = Cos (cas(m) )--sin(m)
9‘(m) = - CoS(COS(m))'SYn(m)
Iy, F£F&) = coS(t+on(x))
F1Ux) = = 1 (Ton(x))- sec*(x)
5. hix) = (x3+2)" (x*-)"
h(x) = S(x3e 2" (ax* )Yx=-0)" t (xPx 2)" % yxr)*(2%)
W) = Ex*(3e2) M (x-00 + Ex (X3 2)YE (x - 1)®
() = % (3™ (1) [ 360+ 8 (x%e 2™ ]
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Jlo. h(m) = (M*+11"* (m?+1) >
h'(m) = i(m"ﬂ)};ii')[m"e N2 (192 3(m2Zr )  (2m)
hm) = m(mE1)2 (m=e)? ¢ b m(mEa)Y3 (ma.rn-a.
h'(m) = m (m* 1) (m o) [ (m>) + blm*1) ]
o
him) = (m>r1) "
hitm) = Z(m>1) %% (2m)
ht(m) =2 Tm (m>ry)32
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Q. W) = (2% +5)" (3x4-8)°
h'(x) = 7(2x+5)* (2)(3x%-9)% + (2x¥5)7 5(3x-§)" (12x*)

h'(x) = 14(2x+5)" (3x%-%)% + LOx? (2x+5) (3x4-8)
hetx? = 2 (2x+5)“(3x4-9)" E”(Bx“*s) r 30x° (Zer)J

20, 90/)7 = (3x*-2) L{xaﬂ)
ginl = 12x % +#3x*-8x*-2

g'(n) = woxt - 24x™ v bx

£G4 = csc?(+?)

sc) = (ese?))?

)= 2 (o c?))(- csc(tz)c:ot(t’)D(atb)
FU T ~btT esc B ot (¢2)
22. F(t) = (cot(at>))"

Fie) = 4 (CO{(‘(?—'r"))s(—csc."é?—t“)x'.;-t>

Fut) = ~lot cot?(at*)csc(2t™)
{2x? - x>)va

23. hx) = € s
3- - T
h'(x? = e(z.x S L (2x¥*x*) Y (ox=2x)

24. £Fx) = e (4x>=25) 42
7 % x)uz . '
Fix2 = € (e Z(4x™3x) "1(8‘x~3>

(S-&*Zx")“?

21.



